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/( )Y d , Arab Republic of Egypt AR
Ministry of Education
The completion of the basic education certificate

Examination 2015 for our sons abroad

Algebra& Statistics Second Term Time : 2 hours
( Oiadea o ) (Y000 AN Ll pall bl st ) chuall Ay yladYly plaa) s s
(Apualal AY1 pladduly frany) (Aan il 40 gl pa Ay padf Ay Aol 48y el plesy ) : plb 4

Answer the following questions
First question:

choose the correct answer from the given answers:

(1) The solution set of the equation x% +9 =0 is

a) {3,-3). b) {~9). (o). d){(3,-3)}
(2) If P(A) = 0.75 then P(4") =......

a)1  b)0.75 €)0.5 d) 0.25

(3) f n(x) = -’1: —z where x % 0 then n=*(x) is ......
- X 2 d e
a) :2 b) = o % ) 5
(4) If A and B are two mutually exclusive events. Then P(4 N B) =..... |
a) 1 @_)zero c) P(A) d) P(B)
(5)fx=1,y> =x+3 theny =......
a) 4 b) 2 c) —2 @) +2
(6) The set of zeroes of the function f(x) = x(x* —1)is
a) (0) (h@-11  aF1y AR

Second question:

(a) By using the formula find the solution set of the equation
x2-2x—2=0 (where v/3 =~ 1.73)
(b) Find n(x) in the simplest form and showing the domain of n where

x243x x-2

n(x) =

x2—4 2x+6
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Third question: - BN

(a) Find the salution set for the two equations together

-y=0 “x*+y’=18

tand
(b) If Aand B are two events of the sample space of a random experimen
P(A)=03 P(B)=06 P(ANB)=02

Find: (1) P(4") (2) P(AU B)

(a) Find n(x) in the simplest form showing the domain of n where

n(x)_51—25+x2+5x
Cx2-25 (x+5)2

(b) Find the solution set for the two simultaneous equations together

2x—y=3 , 3x—y=4

Fifth guestion:

(a) Prove that =, =n, where

3x%+4
2( ) T 3x®44x

X
T xB4x
(b) Graph of the function f: f(x)=x*—1 take x € [—3,3] and from the

graph find the solution set of the equation: 42 _ 1 =

(umsq:un) 2 X
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